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MEC-005/MEC-105 : INDIAN ECONOMICS 
POLICY 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions as per instructions given for each 
section. 

SECTION - A 

Answer any two questions from this section in 
about 700 words each : 

2x20=40 
1. "The sequence of the growth process in India is 

different from what most of the other countries 
experienced during the transition from a 
developing to a developed nation" Examine this 
statement and account for the causes of rapid 
growth of tertiary sector in India. 

2. India's integration with the rest of the world has 
been on gradual rise especially since 1991" Do 
you agree with this statement ? Why or why 
not ? 

3. "The relation between population and economic 
development is a two sided relationship". In the 
light of Indian experience since 1951. Examine this 
statement. 
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4. 	State the various forms of state intervention. In 
the light of globalisation measures adopted in 
India since 1991, analyse the changing nature of 
the role of the state in India. 

SECTION - B 
Attempt any five questions from this section in 
about 400 words each. 	 5x12=60 

	

5. 	What do you mean by in equality in income 
distribution ? Explain the policy implications of 
wide spread poverty and inequality in India. 

6. What do you mean by sustainable 
development ? Suggest policy measures to protect 
environment and promotion of sustainable 
development. 

7. Distinguish between any three of the 
followings : 

(a) MBOs (Membership Based Organisation) 
and 	NGOs 	(Non-Government 
Organisations) 

(b) Finance commission and planning 
commission. 

(c) Fiscal deficit and primary deficit. 

(d) Foreign Direct Investment and Portfolio 
Investment. 

(e) Social infra structure and physical infra 
structure. 

	

8. 	Explain the concept of food security ? Evaluate 
the various measures adopted by the government 
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of India to promote food security. 
9. Explain the rationale for a comprehensive price 

policy for agricultural products in India. How far 
the agricultural price policy has been successful 
in achieving the stated goals ? 

10. State in brief the features of government policy 
towards small scale industry. 

11. Explain the significance of infrastructure sector 
in the growth process of an economy ? Also 
examine in brief the policy measures that have 
been taken to promote private investment in the 
road sector in India. 

12. To what extent MGNREGA has been successful 
as a protective measure of employment security ? 

13. Distinguish between labour force and work force. 
Examine the various dimensions of Deterioration 
in the quality of employment. 
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